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EEAG Report 2008

Fig. 1.13

Percentage of GDP

Source: OECD, Economic Outlook 82, December 2007, Table 28; United States: 2008 ifo forecast.
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EEAG Report 2008

Fig. 1.23

Source: Eurostat; European Commission: Statistical Annex of the European Economy, Autumn 2007, Table 76.
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Different measures of the financial position of the public 
sector 
 
 

1. Public sector gross debt (”den offentliga sektorns 

bruttoskuld”): public sector debt after internal claims 

and debts have been netted out within the public sector 

(mainly the pension funds’ holdings of government 

bonds). This is the debt concept used in the EU 

Maastricht Treaty.  

2. Public sector net debt (”den offentliga sektorns 

nettoskuld”): total public sector debt less claims on the 

private sector.  

3. Net worth (”nettoförmögenhet”). Real capital assets 

minus all financial debt. 

4. Also implicit debt – including e.g. pension commitments – 

could be included. 
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Considerations regarding government debt 
 

•  Fair distribution among generations 

- a deficit now means a redistribution of consumption in 

favour of current generations 

- we consume now; “our children” pay for that by paying 

the interest on the accumulated government debt 

- crowding out of investment: if the current generation 

accumulates financial claims on the government, it has 

less reason to accumulate physical capital. 
 

• Tax smoothing for efficiency reasons 

- higher tax rates imply progressively higher distortionary 

costs: distortionary costs increase more than proportionally 

- argument for constant tax rates over time 

- if temporarily high government expenditures, optimal to 

run deficits 

- if future government expenditures will rise, it is optimal 

to run surpluses now (ageing).  



 8

 



 9



 10

 

 

Inherent tendency to budget deficits (deficit bias) 

• Political business cycles 
- expenditure increases and tax cuts before elections 

• ”Tragedy of the commons” 
     - lobbying by various interests 
• Strategic behaviour 

- the party in power seeks to favour its own constituency in a 
       system where parties alternate in government 
• Time inconsistency 

- objective of high employment (same argument as for monetary 
policy) 
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Fiscal sustainability 
 

• Definition of fiscal sustainability: the ratio between 

government debt and GDP must settle down at some 

constant value. 
 

 

ΔD = B = iD + G – T 
 

D = Government debt 

B = Total budget deficit 

i = Nominal interest rate 

G = Government expenditure 

T = Taxes 

G – T = Primary deficit 

Y = Nominal GDP 
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If D/Y is to be constant, it must hold that D and Y increase at 

the same rate: 
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• A given deficit-to-GDP ratio, B/Y, determines the debt-to-GDP 

ratio, D/Y, in the long run. 
 

• Assume g  =  0.02 and π  =  0.02 
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Sweden today 
 

Surplus target of 1 percent of GDP, i.e. B/Y  =  -0.01 

The net financial wealth-to-GDP ratio D/Y  ≈  -0.20 
 

g = 0.03 
 

π = 0.02 
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Thus, living up to the surplus target means we maintain 

an unchanged ratio between net government financial 

wealth and GDP. 
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Fiscal sustainability and the primary budget deficit 
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Thus:
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If we aim for    0,  it must hold that:  
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The primary deficit must equal the difference between the 

real growth rate and the real interest rate times the target 

debt-to-GDP ratio. 

• If g  =  r, then 
G T

Y

−
=   0 

• If g  <  r, then 
G T

Y

−
<  0,  i.e. we must have a primary surplus. 

• If g  >  r, then >
G T

Y

−
  0,  i.e. we must have a primary deficit. 
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The EU fiscal rules 

• The no-bail-out clause 
• Government budget deficits below three per 

cent of GDP 
• Gross government debt below 60 per cent of 

GDP or approaching this level ”at a satis- 
factory pace” 

• Medium-term objective of budget ”close to 
balance or in surplus” 
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The fiscal rules 

• Maastricht Treaty  
• The stability and growth pact 
        - preventive arm 
    - corrective arm 
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The earlier working of the fiscal rules 

• Empirical evidence that the rules have reduced deficits 
• Initially the rules were observed 
• But later a large number of violations 
    - Portugal (2001, 2005-07) 
    - France (2002-04) 
    - Germany (2002-2005) 
    - Netherlands (2003) 
    - Greece (1997-2005) 
    - Italy (2003-) 
    - UK (2003-04) 
    - Several of the new member states (Hungary 10.1 per cent of GDP  

 in 2006) 
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  2005 revision of the stability  pact 
 

• Changes strengthening fiscal discipline refer mainly to the soft 
parts of the pact 

   - increased emphasis on the debt criterion 
   - ”commitment” to enhanced budgetary discipline 
     in good times 
   - minimum fiscal efforts 

 
• The crucial changes are those that apply to the hard parts: the 

excessive deficit procedure 
    - extension of deadlines   
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Widened scope for discretionary decision-making in the 
excessive deficit procedure 

 

• Very far from the original German proposal of automatic sanctions 
• The idea was to constrain discretionary fiscal policy decisions at the 

national level 
• But discretionary decisions are now back at the enforcement level – 

endogenous response to violations on the part of large countries 
• Discretionary political decision-making is the root of the enforcement 

problem 
• More discretion cannot be the solution: it will only aggravate the 

enforcement problem 
• Fiscal balances improved during the 2006-08 upswing, but are 

starting to deteriorate now. 
• This means the real test of the revised stability pact will come now. 
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Table 1.3
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 The three-percent-of-GDP deficit ceiling in the current recession 
 

• Several countries will violate it 
 

• But there exists “severe cyclical downturn exemption” 

- negative growth 

- accumulated loss of output during a protracted period of very 

low growth relative to potential growth 
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   Possible ”technical” solutions 

• Depoliticisation of the enforcement procedure 
        - EEAG proposal to transfer decisions on sanctions  

   in the EDP to the European Court of Justice 
 

• Stronger political incentives to employ sanctions 
        - member states with excessive deficits should 
          not be allowed to vote in the EDPs for others 
        - smaller and more gradual deposits (fines) 
          would strengthen the incentives to use sanctions 
        - non-pecuniary sanctions (loss of voting power?) 
 



 26

 
 

 

 

 



 27

 

   Stronger incentives for fiscal discipline may 
have to be established at the national level 

 

• Too weak incentives for governments to adhere to own 
     fiscal objectives 
 

• National fiscal policy councils 
    - monitor that ex post government policy is consistent  
      with ex ante objectives 
    - recommendations on the fiscal policy stance 
    - forecasts forming the basis for the government budget 
      proposal 
    - evaluation of government budget proposal 
    - basis for the parliamentary decision-making process 
    - increased transparency of the budget process and 
      higher reputation costs of fiscal profligacy 
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• Have the government’s fiscal policy objectives been achieved? 
       - long-run sustainability 
       - budget surplus 
       - expenditure ceiling 
 

• Are developments in line with sustainable growth and sustainable 
employment? 

 

• Clarity of budget proposal  
 

• Government economic forecasts and underlying models 
 
The Council shall also stimulate the public debate on economic policy 
 

Composition: six academic economists + two ex politicians 
    
 

Instruction of the Swedish Fiscal Policy Council
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First report by the Swedish Fiscal Policy Council 2008 

• Focus on the government budget surplus target – 

1 percent of GDP 

• Criticism of unclear motivations 

- intergenerational equity 

- social efficiency: tax smoothing 

- precautionary motive 

• Prime motivation: Future demographic cost pressures 

- computation of sustainability indicator (S2)  

- the magnitude of permanent budget improvement  

(tax increase relative to GDP) necessary to pay for 

forecasted future government expenditures 

- currently stronger fiscal balance than needed 

- but a combination of adverse developments could 

easily make fiscal policy unsustainable: government 

consumption  (health and old-age care), employment, 

working time 

• Under current policies annual government net lending of 

2.5-3 percent of GDP 2008-10 

- do not use up the whole margin to the surplus target of  

1 percent of GDP 

• The surplus target applies to 2015 

- gradual loosening after that to pay for demographic pressures 

- lower surpluses and eventually deficits up to 2 percent of GDP 

- need for plan how the surplus target should be revised 
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The Swedish fiscal policy framework in the current downturn 
 

• Government net lending over the cycle = 1 percent of GDP 
 

• Observe ceiling for central government expenditure 

(“utgiftstaket”) 

- set three years ahead in nominal terms 

- budget margin between ceiling and planned expenditures 
 

• The surplus target does not prevent a fiscal stimulus, since 

it does not apply to an individual year but over the cycle 
 

• But the expenditure ceiling could become a binding constraint 

on temporary expenditure increases 

- budget margin around 1.1 percent of GDP 

- automatic increases because of higher costs for 

unemployment benefits, labour market policy etc. 
 

• Temporary exception from expenditure ceiling to meet 

recession? 
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Golden rule for fiscal policy? 
 

• The surplus target applies to financial saving (net lending)  

of general government 

- risk that this lowers government investment 

- benefits apply partly to future generations; current 

generations pay via taxes 

- easier to reduce government investment than government 

transfers 
 

• Could the fiscal target instead apply to total saving of the 

general government (the golden rule of public finance)? 

- equivalent to distinguishing between current budget and 

capital budget with fiscal target only for the current budget 

- loan financing of capital expenditures 
 

• Example of golden rule 

- UK 

- Germany 

- New Zealand 

- US states 

- Swedish local government 

- Sweden in the 1950s 
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The golden rule of public finance 
 

F = net lending (financial saving) of the government 

T = tax revenue 

G = government expenditure 

I = government gross investment 

D = depreciation of government capital 

N = government net investment 

S = total saving of the government 

 

Current surplus target 
 

F = T – G – I 

I = D + N 

 

Golden rule target 
 

S = F + N = T – G – I + N = T – G – D – N + N = T – G – D 
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Problems with golden rule 
 

• What government investment should be included? 

- not all investment gives a pecuniary return 

- intergenerational equity or tax smoothing? 

- human capital investment: R&D, education, health care? 
 

• Risks of manipulation 

- current expenditures could be reclassified as capital 

expenditures 

- cheating with the amount of depreciation 
 

• Combination with other fiscal rules as in the UK? 

- borrowing only to finance net investment 

- ceiling for government net debt (40 percent of GDP) 
 

• External auditing? 

 


